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BEFORE ATTEMPTING THE QUESTIONS READ INSTRUCTIONS CAREFULLY.

INSTRUCTIONS TO CANDIDATES
A wdiceg o Frned , gdenfaal @ foro R

1. s @wda Ao ¢ew i@ SPE oprE $aa offvem eoa wir of A, am T aa
a&mm%m(@ﬁwwmmﬂmmwmmdn orm Saa offzara f4fld
s ERfeferehe wwe afam cem arenE)

The candidate is required to write his/ her Full Name, Roll Number and Registration Number
on the Question-cum-Answer Booklet according to the Admit Card issued by the Council ( If it is
wrongly written, the Question-cum-Answer Booklet may be rejected ). It is compulsory for the
examinee to get the Question-cum-Answer Booklet signed by the Invigilator in the space provided.

W i gR et T A T % AR eI Qe G AT G A, e A=
oo s fod (af o foran T @t w3 fiE aRagA @ W) | Wl s
WEA-HE-IW IRAH A oW W W A § i At w0 F Far o

2. TwResffen emediia of ol apaa orfice A Roal® smE oy 93 S I3 Gre¥ =Y, 9F 570

#ow fzwl (q, b, c w1 q) Fre 2@ Ay Soafelee el (3 TEEE ) ofef e S
o€ TEd IR T AR wee s e fiee 3@, e A3

A box is provided at the right side bottom against each question of MCQ for three versions. You
must write the correct choice ( @, b, ¢ or d) in this box. For SAQ of 1 mark, answer to be written
in the specific given space against each question, not anywhere else.

FEfameda e A d et ®§ ¥, vlE W F Al W & a5 gan 31w amw §
T @7 (q, b, ¢ 39 o) ford| TRF Y ST WA (1 ) F IW G WH R A, 3=y
el

3. ﬂmmf&:ﬁ«mmmwﬁmmmmﬁmﬁaaﬁmmm
wTEE per A e 7@

All questions of this Question-cum-Answer Booklet are trilingual. In case of any doubt or
confusion, English version will prevail.

mm-w-mgﬁhﬂtm&m?ﬁwwﬁﬁilﬁ?ﬁwﬁmﬁg&m;ﬁ-‘g}a}
FHUA wUTAT A AT

4. o@rw cma gre o TTAACHA A G e Tow Al wany ey fire

After completion of the examination this Question-cum-Answer Bookle
securely with main Answer-script.

Tt @RTE P 97 q IAC-TA & W WE-HE-I R wm o @ ahg ¥

t must be tied
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1. eofefd spna faow Seaefa o e e Sl oy o ofee s ava 3. e
(rzw emsfe avsily ) - 1x14 =14

Select the correct answer out of the options given against each question
and write in the box provided on right hand side bottom (Alternatives are

to be noted) :
Y&F W 1 TE W U M famedt § @ gt A g @R wed aag | ford
(foqes el | &= 2) ¢

(i) a2 sopas Sfema s omafers,

(a) @3 s femeR 1w fifere z3 @3t ooafd W Wzl =@ e s
fifers =3

(b) @b sjzenmet femem ew fifere zv w3 sl e RefFaTR sy fiffe

3l

() @3l S2mEs =P @R e e 20 e e @ @ 3l ofeem

@R e fifere 33

(d asf@ @EDE 711

In double fertilization of an angiospermic plant,

(a) one male gamete fuses with egg and the other one with one of
s the synergids
(b) one male gamete fuses with egg and the other with secondary

nucleus

(c) one male gamete fuses with synergid and the other with any

one of the antipodal nuclei

(d) none of these,

sclencemaster.in
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Attt g & ffe o

(@) UH Yqmew stz ¥ W YaAtdd @ & U4 gHU Wed SV § §
fret vsh & wor wefaa e @

(b) T [ ster &y derfad @ & ad gE ffdEE FEF F A
ot gt &

() U (W W FMVH (synergid) F T TeArdd @ & @ gHW
mﬂiﬂ(anti-podal)mﬁﬁﬁ?ﬁﬁﬁmmm%

(d = ¥ = = [ ]
(i)  SINReTTEERE 21 aofd sl
(@) I TR @R frm SRy @ A
(b) TR MR SR A R @R SR e w4 T
() IR IRIC SR ILHISTS RTIA NETNE AT 1Y
d) «asfm @eEE 73
Amniocentesis is a technique
(@)  in which sex of the foetus can be changed
(b) by which any chromosomal anomaly in the foetus can be
detected
(c) that can be used for correcting genetic disease of the foetus
(d) none of these.
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vftrarifag us aw® @

(a) Forart} i a1 femn uftada faan o e &

(b) mmwﬁmﬁwﬁvmﬁmwmmmt

(©) Pt WAt o &1 felt st st # Irar o fEa o aw @
(d) T R FIE AR [ ]

(i)

QTR FINHLHR IS AT

(@) @FI&
(b) @3 «fFere zeW

(c) cmﬁw@mwﬁﬂmwﬁ«@mmﬁmmﬁmn

(d)  STFII TRA CIET |

The capacitation of sperm means

(a) its enlargement

(b) its maturation

(c) the change of head membrane of sperm so as to expose
acrosomal enzymes

(d) the breakdown of tail of sperm.

TFI] H HUTEAT H AT &

(a) TEH &

(b) TEHI SRl

(c) v & far @i et ® oftads fredt uwiaimer domgm @t wsiea fa

wa
(d) ] ® GO & g ]
e
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(iv) @R =l e Bfafmfic.oz wor rooif¥e 2
(a)  #BrETETY (b) e

()  wEbr=fym (d) emfar ag

Which organelle is connected with Genetic Engineering ?
(@)  Ribosome (b) Plasmid

()  Mitochondria (d) Golgi bodies.

N BRI et st @ Q& 2

(a) TEEH (b) wifoqs

() wrEiwifogar (d) TR | ]
w3l / OR / gar

PCR-&7 &) (I @72l e 2

(a)  RNA *frze (b) FREEHFre

(c)  Taq *fPmrmEer (d) @SR

Which enzyme is essential for PCR ?

(a) RNA polymerase (b) Ribonuclease
(c) Taq polymerase (d) En_donuclem. .
sclencemaster.in
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PCR & fotu ®\ dogn anavas ¢ 2

()  RNA TR (b)  TEEgfawT

(€  Taq WM (d) UvERfEerT | (]

(v) o e &=
(a) TIHEAC (b) feeras

© Pwwe (d) s

Male honeybee is

(@)  haploid (b) diploid

(c) triploid (d) tetraploid.

o Y ¢

(@) F<iES (b) fewiigs

(€ s @ Aeiwe (]

(vi) W aFEw IMH 4FY GIoH FORT MA@ @R IEF, @ OHF FTEAHI =S

UG A% 2CTA TR WY ?
(@ O - (b) 25
(cp 50 (d) 100.
[03218] [ws-BiOS | | 7 of 20
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If a colour-blind male marries a normal woman, what percentage of

their children are likely to be colour-blind ?
(a) 0 (b) 25
(¢) S0 (d) 100.

A% e A e e A Hieen @ e &t S at § e
wicRTd Foy &9 @ dwrEe € 2

(@ 0 (b) 25

(¢ 50 @ 100. []

(vii)

Cre g I =

(@) "F-feEmnem

(b) ST 21 72 EETIETEE SoifEfon STt Seom TR
€ (a) 93 (b) TexR

(d) asfE @EE T

Down's syndrome is due to

(a) non-disjunction

(b) trisomy resulting in extra 21st chromosome
(c) both (a) and (b)

(d) none of these.

sclencemaster.in
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23 fag @1 #wor @ ‘
!
(@) A-fewiaeE
(b) AR 2181 oA & &R & FHROT ZrgArdt F A

(©  (a) @ (b) SHI

@ R ]

(vii)) W @FeEN T3 FefFe anfe «fee 23 2
(a) R (b) cenfore

() FefFas (d) e

Which enzyme is responsible for cleavage of Nucleic Acid ?
(a) Ligase (b) Protease

(c) Nuclease (d) Polymerase.

faer tfge & fage & fow #1F ¢ome Iwart @ 2
(@) IS (b) wifews
(c) e (d) el (]

wa / ayZemcemaster.in
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(a) @M g3l ans (b) o ffaefe 4

© N =B qe (d) e

The main characteristic of Golden Rice is presence of
(a) high level of B-carotene (b) high level of Methionine

(c) high level of Lysine (d) none of these.

oS e HI Jufeafa # qa faviva &
(@) P-HRH FIAER (b)) HASEHA H Iod TR

() ETIH FT 3T wR (d) T § IS A (]

(ix)

fFefefeetm @t e Fftw s anEeE spEfye fZr 2
(a) NH, (b) H,
(c) CH, (d) O,

Which one was absent in the atmosphere at the time of the origin of
life ?

(a) NH, (b) H,
(c) CH, (d O,
e Y Ieafe & GHY ATgHSA | B Ul @ 9t )

(a) NHj (b) H,

(c) CH, (d) O, ]

l 0321.8 |
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(x) Y THEASEI I TN
(a) R @
(b) R wrRefer e v
(c) FRfen wemmwEz o o

d) esFREEE s :

Active immunization can be brought about by
(a) vaccination

(b) injecting specific antibodies

(c) injecting many allergens

(d) none of these.

i srEFmHEwTo @an o wEa
(@) FFE T

(b) Favi dETE @ R W

(c) F® Tl ® R H

(@ I FE T ]
ued / OR / Jgar
ORI (PR RETE W 2
. (@) WERE | (b) ==
© ©RI™ (d) «sfr @ 77
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Interferon is active against which one of the following ?

(a)  Bacteria (b) Fungi

() Virus (d) None of these.

A Fret o @ faraas e afpa & 2

(@  Sfamy (b) WA

(c) fasm (d) F A T [ ]
(xi) SRIPWE Tfiw ey Ay

(a) FFoTHI T I TR

(b)  carc et srzst @@l

() st erne am
(d) «sfE @EEtE 73

Virus-free plants can be obtained by

(a) culturing shoot apex

(b) treating the plants with Bordeaux mixture
(c) giving antibiotic treatment to seeds

(d)  none of these.
ooy Tarei A 9T S €

(@) @ & YIS 1 e g
(b) i @7 aret firerER & WY 3TER G

sciencemaster.in
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(xii) T (PTG O Ay ¢
(a) @@P@ (b) PAN
© €O, (d) co
Which of the following is a secondary air pollutant ?
(a) Aerosol (b) PAN
) CO, (d €O
&I fgcdla® arg wgus ¢ 2
(a) TEREA (b) PAN
© €O, (d €O ]

(xiii) *feRT TR ST AT I et 2=
(a) @3 Refe V wipfen crifea
(b) @l @@
() =l J opfsr e
d) «@sfE @R T39I
The overall growth curve for the world human population is
(a) an inverted V-shaped curve
(b) a straight line

J-shaped I I
(e} adJ-shaped curve sclencemaster.in
(d) none of these,
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T A ST & T gt ww

()  TH IR V- aE (b)) T @l

() UH J-3mpfa ok (d) 3 & FE T [:l

(Xiv) PN MBS O seafve sme R
(@) VEREET R
(b) Re= @R @ T Soififox Ty
(©)  TIRE s Sesimm Sfowa &5

(d) erpfos Sewadn 9R = qrE o)

The Silent Valley in Kerala has been preserved, as it has

(a) recreational value
(b) rare flora and fauna
(c) valuable timber plants

(d)  natural tropical rain forest.

FTeT HI FFGAS delt St WA @ T ¥, Hifw 3a &

(a) HARSH oA (b) forer 3gfre r woft

() T A A (d) SRl I awt aw) [

wYal / OR / JAgar

sclencemaster.in
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AWEAE ARG ABI (P ACHEAER (99 frrafyrer 2

(a)  BETD ©nfe wrewE (b) foeE (Tue@) Wi
()  fosita wirw== (d) «af@#z @entE v

Sundar Lal Bahuguna was the leader of which one of the following
movements ?
(a) Silent Valley Movement (b) Bishnoi (Jaipur) Movement

(c) Chipko Movement (d) None of these.

e T Pt 3 @ o st & e 4 2
(@) WZHE el AR (b) fawiid () Highe

(@ fau aricieH (d) T A HIE T [ ]
2. Fsffe emefi ofed «al A Sea we ( Rew emefa ady ) 1x4=4
Answer the following questions in one sentence each ( Alternatives are to

be noted):

s TR ¥ IR TS UE a1 e (defeus weEl W e dif) |
i) SRR 19t AR TR RE@TTHAS AT T

Mention the scientific name of the microbe responsible for

gonorrhea.
T % e IRer Sieny ST A AW A |
T:/Ans./3:
sciencemaster.in
wval / OR / &y
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ZIFT-@a3 =@ am & 2

What is the full form of ZIFT ?

ZIFT &1 0 &9 71 & 2
T:/Ans./3:

(ii) QM6 SHIETM (SEDe @M A e |

Name one autosomal genetic disease.

T AfeTRpt apafers Sort w1 ferfen

T:/Ans./3:

‘sciencemaster.in
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NFhyz FoTTaeI Y ARG ATSHIAAA AT 101 |
Name the bacterium used in transformation experiment by Griffith.

Mfper &1 ST SEET § 9 A H AW fefa)
¥©:/Ans./3:

(iii) ERIEDS @3 FHAPTET TN @
Name one microbial insecticide.

T Sia] ST e H AW fefE
¥:/Ans./3:

sclencemaster.in
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Presls wiesrn wam Bwrene wag |

Give one example of sedative drug.
Fedfen gn w1 uw 3wy &
S:/Ans./3:

(iv)  bRwEfem e qe
Define autecology.

|-aifRafaent ) ufvafya =3
¥:/Ans./3:

sclencemaster.in
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R W §18 |
Define biome.
Starg @t qfesmsT 2
T:/Ans./3:
sclencemaster.in
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